Revision             Name ______________________________

[image: image1.wmf]4

8

p

6

+

[image: image3.wmf]3

4

b

+

Rearrange these equations to solve
1)
9f + 7 = 133 


2)
2k – 9 = 3



3)
     = 6



7)
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 – 6 = 2


8)
2(p+4) + 6 = 20


9)
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 + 8 = 10 



Solve Simultaneously

10)

5x + 2y = 30






2x – 5y = -26

2x + 2y = 12






3x – 2y = 5





The entrance fees to the zoo are $12 for adults, and $8 for children

One day 16 people go to the zoo, paying a total of $164


How many adults and children went to the zoo?
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